1.

Find the total of 4,844 and 2,156
Th H T o

0000000 00000000

©® | © 0000 000
&) 000

2.

Use <, > or = to make the statements correct.

0000 + 2|15 6

3456+789 () 181042436
282941901 () 2312+2418

= 3,450 + 1,650

Complete the missing digits.

r==i Fr==1

L 131 49

5.

When you add 100 to a number

it only changes the hundreds
Go column.
for example, 4270 + 100 = 4370
Amir

Give an example to- show that Amiris not correct.



6.

There are 6,128 people in a village.
2,503 are women, 2,8l are men and the rest
are children.

Complete the bar model to represent this.

How many children are there?

7.

There are 12,560 people in the hotel.
3982 adults, 6695 children and the rest are
staff. How many staff are at the hotel ?

Use a bar model to represent the problem.

Jack has £256
Eva has £1000 more than Jack. [ =« ] [ & |

Howmu,chrrwway d,O'th.er haveaitogetfw?
Use a bar model to—h,olp with your wu-rlcmg out.

9.

Jack says,

@ When | add two numbers
together | will only ever
make up to one exchange

in each column.

Do you agree?
Explain your reasoning.



